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Min Z=3x +7X, +2X; +4X,
Subject to 4x +2X,+2X,+6X%,>5
X, +3X, —2X; — X, < -2
X, >0, x,>20, x,20, X, =20
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2y 13 A B C D E F
A 0 15 20 25 30 20
B 0 10 35 20 10
c 0 12 32 22
D 0 15 20
E 0 10
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~ In the unbalanced transportation problem, if a unit from source i is not shipped out

(to one of the destinations), a storage cost must be incurred. Let the storage

(penalty) costs per unit at sources 1, 2 and 3 be 5, 4, and 3. If in addition, all the

supply at source 2 must be shipped out to make room for a new product, find the
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D1 D2 D3 Supply
Can1l $1 $2 $1 30
Can 2 $0 $4 $5 40
Can 3 $2 $3 $3 30
Demand 30 30 20
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